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11=(V1>-5.0*n*Vt) ? Area*Ils_T2*(limexp(V1/(n*Vt))-1.0)+V1*GMIN : O

Q1=(V1 < FC*Vj) ? tt*l1+Area*(Cj0_T2*Vj_T2/(1-m))*(1-(1-V1/V|_T2)*(1-m)) : O

12=(-BV<V1) ? (V1<-5.0*n*Vt) ? -Area*ls_T2+V1*GMIN: 0: 0

Q2=(V1>= FC*Vj) ? tttl1+Area*Cj0_T25(F1+(L/F2)*(F3*(V1-FC*V_T2)+(m/(2*Vj_T2))*(V1*V1-FC*FC*V|_T2*Vj_T2))) : 0
13=(V1==-BV) ? -IBV : 0

Q3=0
14=(V1<-BV) ? -Area*ls_T2*(limexp(-(BV+V1)/Vt)-1.0+BV/Vt) : 0
Q4=0
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Equation Equation

Eqn3 Eqn2

F1=(Vj/(1- m))*(l (1-FC)M1-m))  Cj0_T2=Cj0*(1+m*(400e-6*(T2-T1)-(Vi_T2-V{)IV})

F2=(1-FC)\(1+m) rs_AREA=rs/AREA

F3=1-FC*(1+m) GMIN=1e-12

Vt=vt(300) A=7.02e-4

B=1108

T1=Tnom+273.15
VI_T2=(T2IT1)*Vj-(2*kB*T2/q)In((T2/T1)L5)-(T2/T1)*Eg_T1-Eg_T2)
IS_T2=Is*(T2/TLYNXTUn)Hlimexp((-(q*EQ)/(KB*T2))*(1-T2/T1))
EQ_T1=Eg-A*T1*T1/(B+T1)

Eq_T2=Eg-A*T2*T2/(B+T2)

T2=Temp+273.15



